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1. What is an attribute in a relation ?

(A) A database column
(B) A database row

(C) A database constraint
(D) A database table

(E) Not attempted

2. If the cost price is 96% of the selling
price, then what is the Profit percent ?
(A) 4.17% (B) 5.17%
(C) 6.17% (D) 3.17%
(E) Not attempted

3. Haryana Govt. had declared which
among the following year as ‘The Year
of Industry and Employment’ ?
(A) 2012
(B) 2013
(C) 2011
(D) 2014
(E) Not attempted

4. The outermost solid cover or shell of
the earth is known as

(A) Sima

(B) Sial

(C) Igneous

(D) Earth crust
(E) Not attempted

5. Anil introduce Rohit as the son of the
only brother of his father’s wife. How
is Rohit related to Anil ?

(B) Uncle
(D) Son

(A) Brother
(C) Cousin
(E) Not attempted
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(D) None of these

e

The water accumulated under the
ground surface in this manner

(A) Well (B) Canal

(C) Ground water (D) Spring

(E) Not attempted

With the help of which of the
following international organizations,
Haryana Community Forestry Project
was started ?

(A) World Bank

(B) European Commission

(C) South Asian Association for
Regional Cooperation (SAARC)
)5 [E
ok )’
(E) Not attempted ‘ '[5**'1:

Which Article in the Indian Constitution
is related to the Equal Justice and Free
Legal Aid ?

(A) Article 39A
(C) Article 39D
(E) Not attempted

(B) Article 39C
(D) Article 39B

Full form of RKVY is

(A) Rashtriya Krishi Vikas Yojana
(B) Rajya Krishi Vikas Yojana

(C) Rajya Kendra Vikas Yojana
(D) None of these

(E) Not attempted

Which function is used to free up
memory allocated by malloc(), calloc()

or realloc() ?

(A) clear()

(C) free()

(E) Not attempted

(B) reset()
(D) deallocate()
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(C) 3T=8¢ 39D (D) 3TI=\¢ 39B
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\AA) TG BN ferehrr o
(B) T=¥ S foer A

(B) &
(D) ferm
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I

(D) 7 | ¢ TE
(E) 3SR

10. malloc(), calloc() AT realloc() GRI
Fmifed AR ) e FQ % e e
A o1 ITA fR S ® 7
(A) clear() B) reset()
(C) free() (D) deallocate()

(E) 3rvnféa
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RIDF was established in

(A) 1995-1996 (B) 1992 - 1996
(C) 1993 -1995 (D) 1992 - 1993
(E) Not attempted

Which of the following is used to
manipulate data from a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)
(D) None of the above

(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.

~a

=3
(B) 356 r,«:g

E;‘..J'I.:’i
(D) 254

(A) 252
(C) 201
(E) Not attempted

Which Article in the Indian Constitution
is related to the Abolition of
Untouchability ?

(A) Article 117

(B) Article 18

(C) Article 121

(D) Article 17

(E) Not attempted

was the longest serving
Governor of Haryana.

(A) Birendra Narayan Chakraborty
(B) Ranjit Singh Narula
(C) Jaisukh Lal Hathi
(D) Dharma Vira
(E) Not attempted
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(C) Nationa] SV

- Survey Arguments Institution (C) e ATYHE FRITIIH o
(D) None of thege (D) 378 ¥ g T8I
(E) Not attempteq (E) &
1. f;ohm;l,:gnt;s Photograph, a man said, | 17. T = 3 3@ FW §Q, T Al
nan's fathe rother or sister but that J T, “TRT RIS WIS AT §&A T8l 8 q@ B3|
5 Iis my father’s son”. - El%%ﬁ?ﬂﬁ’(ﬁ?ﬂ%gﬁ%l” femt

w OIT phOt’Ograph was it ? i fpe @ 7
(A) fs son’s R (A) I T
(B) Hfs father’s (B) I fuar &1
(C) His own (C) F7H1 T F
(D) None of these (D) 378 | HI3 A&
(E) Not attempted (E) Frwaféa

18, Transformation of Aspirational Districts 18. aTaiaf fen Frlma &1 F‘Tiﬂt“l,zﬁs

Programme was announced by HAHH zra =fya e )
(A) Atal Pension Yojana (A) 37T GIH i
(B) Pradhan Mantri Yojana (B) THTAHAT FISHT
(C) NITI Aayog %*a:g; \_J€) fife
(D) None of these SR (D) 3T & 13 T2
| (E) TEfEa

(E) Not attempted
19. CIIHEEH 12 ?

19, What is a stream in C Program ?

(A) A way of handling input/output (A) T S H $Ye/ AT AT
1 39
a program 3T .

(B) :p;r:: 2? foz:) used in decision- (B) Eﬁﬁq o "t T § Iw f
maling stulcBt (©) T 3 Tk = A

(C) A type of function used 10 foFan 9 a1eT O YR 1
manipulate string” ture used to iAD) TF T I ST T

D) A type of data StTUC™ e o Rrat 3w
store variables E)

(E) Not attempted
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20.

What was the percentage increase
in the foreign exchange reserves in
1997 — 98 over 1993 - 94 ?

1991-92 1992-93 1993-94 1994-95 1995-96 1996-97 1997-98 1998-99

FOREIGN EXCHANGE RESERVES OF A
COUNTRY/(IN MILLION US $)

21.

22.

(&) 150
(C) 620
(E) Not attempted

(B) 200
(D) 100

Which of the following is used to
define the structure of a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)
(D) None of the above

(E) Not attempted wia

Full form of IMRB is

(A) Indian Market Rural Business

(B) .International Market Research

Bureau
(C) Indian Market Research Bureau
(D) None of these
(E) Not attempted
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20. 1993 -94% 1997 - 98 H feft ff
ver T gfavd sga == ot 7
FOREIGN EXCHANGE RESERVES OF A
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—

» Vo
(A) 150 (B) 200 % S‘;,D
ELiE (C) 620 _p) 100 “257-
:‘-ﬁ"ii_-*
=i (g) arRnféE

21. erE E G ) ARG B 5 T
1 1§ 3 frmes s e ST B 7

(A) 31 AfFel e (DML)
] TFE Tl 6T (SQL)
- (@) 221 efhdm s (DDL)
(D) e @ T

(E) Jr5=md

22. IMRB %1 for® ¥4 3
(A) 3femm AThe Tt foemm
(B) TR Wiehe T =
Q) iR e feed =
(D) T & BIS T

(E) 3T
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23. This person bec

& .
be appointed g ¢, - ¢ Arst Indian to

Punjab High Couthe 1% Chief Justice of

: Ttin 1913
(A) Sir Shadijg

(B) Dr. Sarup gjpne,

(C) Chaudhary Bansila]
(D) Sir Choty Ram

(E) Not attempte d

e

24. National Agricultyyg; Co-operative

Marketing Federatiopn (NAFED
established on

' (A) 27 October 1985
(B) 2™ September 1958 3
(C) 2" October 1983
(D) 2™ October 1958
(E) Not attempted

) was

M

A "

AaN;

!

o
=

g

25. Who was the founder of the Shunga

Dynasty ?

(A) Bimbisara (B) Agnimitra
(C) Pushyamitra (D) Ajathashatru
(E) Not attempted

26. A cyclist covers a distance of 750 m

in 2 min. 30 sec., what is the Speed
in km/hr of the cyclist ?

(A) 12 km/hr  (B) 17 km/hr

(C) 18 km/hr (D) 13 km/hr

(E) Not attempted

27. Which of the following modgs is used
for opening a file for appending ?

(A) ¢ (B) ‘@’

€) « (D) W

E) Not attempted
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(A) 12 km/hr (B) 17 km/hr
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(E) 3T
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28.

29.

30.

31.

32.

e

Which type of join returns only the
rows that have matching values in
both table ? ‘
(A) Outer join
(C) Inner join

(E) Not attempted

(D) Right join

Full form of MUDRA is

(A) Micro Units and Development
Refinance Agency Ltd.

(B) Micro Units and Development
Reference Agency

(C) Mantri Union Development |
Refinance Agency Ltd.

(D) Mantri Union Development
Reference Agency

(E) Not attempted

Which planet is known as the “Watery
Planet” ?

(A) Earth

(C) Jupiter

(E) Not attempted

(B) Mars
(D) Mercury

E el "’..
i

Which of the following pairs is s

correctly matched ?

(A) National Dairy Research Institute :
Manesar

(B) YMCA University of Science and
Technology : Faridabad

(C) Lingaya’s University : Hisar

(D) National Brain Research Centre :
Hisar

(E) Not attempted

Jayer lies below the crust.

(B) Rocks

(A) Core
(D) None of these

(C) Mantle
(E) Not attempted

b . V.
(B) Left join

~
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330 Whic}l Arﬁcle .

is relateq to ¢ € Indian Constitution

village Pany, © Organization of the
(A) Article 39ayath ?
(C) Article q;  B) Article 45
(E) Not attempyey (D) Article 40
Which li

= trin cobrary function 1S used for
SRS Concatenatior, in C pro ?

am

B Y teny
C) strrev
& U %strcat()
(E) Not attempteq

35. fa:b=5:9anqy. . _
finda:b:c, *€=4:7, then
(A) 36:20: 63
(B) 63:20: 36
(C) 20 : 63 : 36 o
(D) 20: 36 : 63 ﬁ‘ﬁ‘:ﬂl}

(E) Not attempted

36. Recently, Jahanara Bagh Stadium in

Jhajjar district of Haryana has been

renamed as

(A) Hemchandra Vikramaditya
Stadium

(B) Narendra Modi Stadium

(C) Maharishi Dayanand Saraswati

Stadium

(D) Rao Tula Ram Stadium
(E) Not attempted

The regulated and controlled distribution

of essential goods among people means

(A) National Institute of Agricultural

(B) soirrl:zt(l)f /g\grict,ﬂtural Credit in India

(C) Public Distribution System

D) National Cooperative
Development Corporation

[E) Not attempted

37.
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33. Wmmmm_mmm
TEI b HSH @ Haiferd 2 7

%ﬁ% (A) 3‘3@3 39 (B) 313@3 45
S () oreEE 41 by iR 40
(E) TG

34. CYum # i weEitm ¥ foro 5
TSSO B ST IUT e i & 7

(A) strepy() (B) strlen()
(C) strrev() (D) strcat()
(E) 39

35. ?-'Iﬁa:b=5:93ﬂ'{b:c=4:7,?‘ﬁ
'g:b:cmﬁl 6 :7
(A) 36:20: 63 —:l:l/l_,
(B) 63 : 20 : 36 30 36" 63
(C) 20:63:36

\_IP) 20:36: 63

(E) 3R

36. T & H, BN &+ geor fa & FeEW
1T RfeTq o1 9 Teeet
foram w2
(B) g Hdt wfeam

(C) Telly gare aeadl wfeam
(D) T qer W Rigzm

(E) Trnfd

AN A STEvEh g3t & e aik
et faawor % fow soerh @

(A) TSR S forqvm weerm

(B) WRd ¥ HfN K9 &
\/Le)/mévrﬁa;ﬁmwm

(D) USE Tt fepm wiaRem
(E) i

37.
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38. “Mountbatten Plan” regarding the

partition of India was officially declared
on

(A) 10 June 1947
(B) 03 July 1947
(C) 03 June 1947 ne
(D) 04 June 1947
(E) Not attempted

39. Which of the following was the theme
State of Haryana’s famous Surajkund
International Crafts Mela, 2022 ?

(A) Punjab

(B) Jammu and Kashmir

(C) Himachal Pradesh

(D)’ Uttarakhand

(E) Not attempted

40. A deposition of sand which results in

a long, narrow embankment in the
sea near the coast is called

(A) Lagoon (B) Latitude

(C) Beach (D) Sand bar

(E) Not attempted

Complete the following Analogy.
Cardiology: Heart:: Mycology :

(A) Shells (B) Skull

(C) Fungi (D) Diseases
(E) Not attempted

41.

The two general categories of crop
insurance are called
(A) Crop-price insurance and crop
insurance
(B) Crop price insurance and crop
revenue insurance
(C) Crop-yield insurance and crop
revenue insurance
(D) None of the above

(E) Not attempted

42.

GET IT ON
Google Play

cG - CG23

iz AP S e % e &
Feifera oft, 1 anferpris =@Eom _—
6 TS|

(A) 10 3[d 1947

(B) 03 IS 1947

03 I 1947

(D) 04 [T 1947
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(E)
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LAC) I (D) T
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LBy o e ST 3R et Trorey s
(C) wHrel Iere W 3R e Tropeg
(D) Sula | ¥ &Y T
(E) 3rsRnfEd

38.
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43.

44'

45.

46.

47.

Serves as a connecting link
between Himalayas and Haryana
plains.

(A) Aravalli hills
(B) Morni hills
(C) Mewat hills
(D) Tipra hills

(E) Not attempted

E Tt
e
?*"{ﬁlf n:

- K [E]
Pradhan Mantri Jan Dhan Yojana
was launched on -

(A) 28™ August 2016

(B) 28™ November 2014

(C) 28™ August 2014

(D) 28™ November 2016

(E) Not attempted

The largest planet of the solar system is
(A) Saturn
(C) Jupiter
(E) Not attempted

(B) Uranus
(D) Neptune

A, B and C started a business by
investing Rs. 1,20,000, Rs. 1,35,000
and Rs. 1,50,000 respectively. Find
the share of each out of an annual
profit of Rs. 56,700.

(A) 4:5:8

(B) 8:9:10

(C) 5:6:3

(D) None of these

(E) Not attempted

First Mobile Court of Haryana was
set up at Mewat in
(B) 2005

~ (D) 2000

(A) 2003
(C) 2007
(E) Not attempted
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43. __ fewrem siv ghemn 3 deei %
iR i
(A) IRl <t it
(_AB) T <t it
(C) Haa <t wgTfeat
(D) fewn &t wmifeat
(E) ST9Tya
44, JUFEN S 99 ASET H IRA
= fomam )
(A) 28 3T 2016
(B) 28 &R 2014
\_{C) 28 3T 2014
(D) 28 & 2016
(E) TS
45. R ey & 99 921 18 @
(&) R (B) FE
|AC) Tewtd (D) o=
(E) 3T
46. A, B3R CI¥. 1,20,000, ¥. 1,35,000
3R &. 1,50,000 F¥: oW 2 qC @
FHRER & | arffes @ €. 56,700
Teh TN 1T H Jesh b1 3791 T . |
(A) 4:5:8 420 135 BT
s AB) 81910 L g 1o
#E () 5:6:3 j@/
(D) 3T | g &
(E) 3T
47. Wa@ U o giwmn $t geed
Hrege = wfua form w |
(A) 2003 (B) 2005
\_{€) 2007 (D) 2000
(E) TSR

13- B
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48. If \/15= 3.88 then find the value of \g .

49.

50.

51.

52.

GET IT ON
Google Play

(A) 5.60
(C) 1.2933
(E) Not attempted

(B) 7.80
(D) 13.97

If D = 4 and COVER = 63, then
BASIS =7?

(A) 50

(C) 55

(E) Not attempted

(B) 54 ES.’
D49 3

In which year, British Govemmeﬁt
politically divided Haryana into two
parts ?

(&) 1805
(B) 1810 S
(C) 1815 Sl
(D) 1800

(E) Not attempted

Mixing of unwanted substance with
water is called

(A) Sound pollution

' (B) Water pollution
" (C) Nuclear pollution

(D) Soil pollution
(E) Not attempted

When did Mauryan Empire begin ?

(A) 323 BC
B) 322BC
(C) 289 BC %@‘3@
(D) 326 BC

(E) Not attempted

cG - CG23

48. I JI5=3.88%, \EW‘“"W
|
(A) 5.60

AE) 1.2933
(E) JTSRNTEa

(B) 7.80
(D) 13.97

49. 4 D = 4 3 COVER = 63,

BISHS IS
BASIS = 7
EE

A 50

(C) 55
(E) TSR

50. ffew w3 Toeh A g i ey
< v i e el
\4#) 1805
(B) 1810
(C) 1815
(D) 1800
(E) 3Tt

51, 9o % G FEiiod gard H1 e
FHEATa 2 |
(&) T TG
(B SIeT S
(C) rEhTa S
(D) &t 5w
(E) TRt
52. HiF AT he Y& I 7
L4A) 323 BC
(B) 322 BC
(C) 289 BC
(D) 326 BC =
(E) 3T

(B) 54
(D) 49
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53.

54.

55.

56.

S7.

" (B) Kisan fair

The most widespread form of

adv.e TUsing and is the favourite of the
Indian rural maggeg

(A) Magic shows

(B) Wall painting

(C) Folk media

(D) None of the above
(E) Not attempted

In Haryana, this famous fair of
Karnal is held on every September
(A) Gopal Mochan fair

(C) Gangor fair
(D) Mango fair
(E) Not attempted

Find the average of all prime numbers
between 30 and 50.

(A) 49.8 (B) 39.8

(C) 38.8 (D) 59.8

(E) Not attempted

Which of the following is the fastest

memory in the memory hierarchy ?
(A) Primary memory

(B) Secondary memory

(C) Cache memory @z
(D) Tertiary memory et
(E) Not attempted

is the earning Capacity in a
rural market. The cost of Living always
depends upon their W&y of earning.
s are unreliable, as

ended upon the
most of them ar€ depe. So the Income

seasons and agricultur
levels cannot be a fixed one:
(A) Lifestyle d
(B) Socio-Cultural Backgrou?
(C) Economy

(D) All the above

(E) Not attempted

=]
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53. faT199 1 G99 =A9F ¥ 3K YRG
TTHIOT ST T THEIST B '
(A) SITg T TS A
ug)ﬁﬁrﬁa
(C) ek Hifea
S (D) IR H A P T
BEE gy st

54. BREON ¥ FETE H I8 Tfg Fen o
frdae # wran
(A) T = Hedl #
) TOIR HeAl
W:g)amﬁw/d
(E) 7S

(A) 49.8 (B) 39.8 " ’%E ‘
(C) 38.8 (D) 59.8 79 -
(E)
56. frefafad § ¥ wiH-€ BHI0 ToHHT §
Tay a9 WE 8 7

57. 7o SR H 3T &aT 2
S -HT I hIHd Fed I I IS
el Tl B | 3 W Sifavaey
£ ifs A srfremi HEw 3 HH W fuk
2| ara; o W RivEa 78 8wl 2|
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58.

59.

60.

61.

e

Which among the following districts
of Haryana is not drained by Yamuna

" river ?

(A) Hisar (B) Panipat
(C) Yamuna Nagar (D) Sonipat
(E) Not attempted

A and B together can complete a piece of
work in 4 days, if A alone can complete
the same work in12 days. How many

days can B alone complete that work ?

(A) 7 days (B) 6 days
(C) 5 days (D) 8 days
(E) Not attempted

Which of the following diagram
correctly represents Elephants,

! Wolves, Animals ?

(A)

3

E¥E
DEZST,
DfteE

(E) Not attempted

What value will replace the question
mark in the following equation ?
2
4L 2
2

1 1
d 2-=13
+36+?+ 3 5

2
(a) 3% B) 35

(C) 131—36 (D) None of these

(E) Not attempted
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co. Pt i & g 3 - N

k) T (B) I
(© TGN (D) WA
(E) AT
59.AqﬁRBtﬁﬂﬂaw$3WT$T4ﬁﬁUT$@
§|aﬁ;yy%égm1ﬂnaﬁ12ﬁﬁfﬁaﬂ
T 2, a’rsmamwﬁgm
forfi § o ThaT & 7 A «-}re
) 77 Lerefm 55
() s fem (D) 8 fe
(E) T5téa
60. Frefeifad § & Sw-an o weft, St

Fat @) gd ai% A eutar g ?

3l o0l 132
6 3~ %%

) 32
(D) ¥ ¥ 74

4l+
2

1
(A) 3;

3
13—
€ 1375

(E) JTSmtéd
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62. This SPOTLS person from Haryana was |
r;;n;:ted for the Dronacharya Award

e .
(Li < CategOI'y) In recognition of his

contribution tq the sport of wrestling
in 2022

(A) Raj Singh Chhikkara
(B) Ravi Kumar Dahiya
(C) Vinod Kumar Dahiya
(D) Vijendra Kumar

(E) Not attempted

63. What is Solar Eclipse ?
(A) When Earth comes in between
Moon and Sun
(B) When Sun comes in between
Earth and Moon
(C) When Sun Rays do not reach Earth
(D) When the Moon comes in between
Earth and Sun
(E) Not attempted
64. India is the largest Country in
the World (in terms of area). B
@A) 7 (B) 9
€) 5 (D) 8
(E) Not attempted
65. Battle of Karnal was fought between
and Muhammad Shah of
Mughal empire.
(A) Lord Warning i
(B) Nadir Shah e
(C) Sadashiv Rao Bhau i
(D) Siraj-ud-daula
(E) Not attempted
66,

NDC full form is

(A) National Defenc® Coufs“i

(B) National Directory Co;als e
(©) National Directory <° Zg

(D) Nation al Defence Colleg

(E) Not attempted

-15-
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62. TRATN % 38 Raemet #i 2022 # ot
% Wl | I ANTSH B G 3faré

(a) T R o
(B) T FR e
(D) firsig Fm
(E) st
63. qdmEIwIR ?
(A) S <A1 SR % ofte geEft 37 S
(B) 7 ft 3R e & i g o1 <

: g%;g(c) G{E{Z{ffﬁm‘iﬁﬁ“qq@ 4o

....... s

(ADY v gt Sl o A T
(E) TS

| 6a. yRa feea s =S (%A F

et ) 2 2]

7 (B) 9

D) 8 '

% YETE T8 < Sfie el T |
(A) e arm

B) TR
(C) TQIRE & WIS
(D) ferrr-3g-dren
(E) 3T

66. NDC &1 foreqa &9 2

) e fetha i
(C) et SRRl Wit
(k) et


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

i 3/6’ /—’

67. Pehowa mela is held in which among
the following district of Haryana P

33 (A) Kurukshetra 24 it/ d
B) K 1
(B) Karna ,Sx l?'? +H
79 (C) Panipat 34 3{% »
L 3
(D) Sirsa 887
,jf-’ 3) Yz
= (E) Not attempted
68. Who was the Chairman of Steering
6:\,04 899 Committee of Constituent Assembly ?
% 2 (a) Sardar Vallabhbai Patel

(B) K. M. Munshi
(C) Dr. B. R. Ambedkar

/6
. )0 ~ K

3- 3=z
Rajendra Prasad

‘ D) Dr.
i 7 D)
‘ 3 EQ"
o 320 (E) Not attempted

;.i n*’LEéX B

@:;,

3316"

69. Find the sum of all 2 digit number
12,15,18,- - q31v131b1e by 3. ]
12, 51, 18 o, S
a1 , 51,18, 21,....., 99. =
@ (A) 1678 (B) 1458 . 5
154 (C) 1669 (D) 1665, 93%3
b [ (E) Not attempted (z_gﬁ’ (3o 3 47 #

2
uy
UsX 3 3 70. A worker may clalm Rs. 15 for each km
3 ) which he travels by taxi and Rs. S for

é['vﬂ?“!f.
E].FA =]

g9 < 3% fywrsa €1

;% 12, 51, 18, 21,....., %
(A) 1678 (B) 1458 "

T4 ‘j( a@ each km which he drives his own car.
";ﬂ If in one week he claimed Rs. 500 for
travelling 80 km, how many kms he
% travels by Taxi ?
i (A) 20 km ¢d
(ne % a+ ] i
4 (B) 30 km v 16X3 G
(C) 10 km 37
(2,9 (D) 40 km T3
s3X
(E) Not attempted'
/
{065
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(D) Rwan
(E) Tt

68. Sfyer @ @ e Fftfd 1 ST
i o1 ?
(A) TER FETET 9T
(B) %. TH. Hit
(C) =1, . 3. TR
(E) STvaad
69. mﬁzwﬁeﬁ’rmmaﬁwﬁﬂma#

10 159,

?:WEI

(C) 1669 (P 1665
(E) STo=ma

70. Qﬁa;ﬁi'r&éwﬁﬁmwﬁﬁwhm
15%. 3 AT A I FH W fd
5. < gl R T & | AR U Hag
@SOMWw%%QE 500 & ¢
Topam < 3o ol g TRt A v 2
(A) 20 ferrdft T €
(B) 30 Teret i;:?é's \f:;j

\_{e) 10 feh °<

D) 40 freh b W9
(E) I %7 o
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71.

72.

73.

74,

Which among the following is the highest
award of Haryang State Govt. for the
outstanding players of Haryana ?

(A) Bhim Awarg “

(B) Rani Laxmi Baj Award

(C) Guru Vashisht Award

(D) Maharana Pratap Award

(E) Not attempted

In the mesosphere, the temperature will
(A) Decrease at first and then increase
(B) Decrease

(C) Stay the same as in the Stratosphere
(D) Increase |

(E) Not attempted

A deep narrow valley with steep sides
is called a

(A) Gorge

(B) Delta

(C) V-shaped valley
(D) All the above
(E) Not attempted

[
Fo
[m]=t[=]

In each of the following, find the
figure from the answer set which
will continue the series given in the
problem set.

- -
a) |[—= B) (=—

‘_

— —|

— —

—_— e

(E) Not attempted
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71. ghamn % S feemiedl &g ghamn 15
TR 3R | e g Frfaiaa o
FHA-A R ?

Ay i e
(B) Tt wigsht =g aramd
(C) T& TR 3aTE
(D) WERIVN JaTq 37T
(E) TSR

72. WLAHSH ©, AIUHH
(A) T =M R wem
(B) e
arc (©) siEd % GHH & @M
=T (E) Iy
73. T el g urdt fme oy @t g
B/, g 2l
LAy TITet
(B) e
(C) V-3THR 6t =it
(D) It Gt
(E) IR

74, Trafafea & @ o S ag=a 4 @ ~m
Ffeu it e ag= 1 & T8 J@en %
T T ¢ |

Oh

o S e

A) |—= (B) [==—

— —

( AC) | — D) |=—=
(E) 3TRRE
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75.

76.

77.

78.

79.

Which of the following numbers
divisible by 3 ?

(A) 5967013

(C) 541326

(E) Not attempted

(B) 1111
(D) None of these

In March 2023, Haryana became first
State in India to achieve 100%
(A) Adult education

(B) Electrified railway network
(C) Solar installation

(D) Rural electrification

(E) Not attempted

What is the reason behind red soil
developing a reddish colour ?

(A) The presence of potash and magnesia
(B) Due to the presence of iron

(C) Over Grazing

(D) None of these

(E) Not attempted

Which error detection code uses a
single parity bit to detect errors [

(A) Hamming code

(B) Parity check

(C) Cyclical Redundancy Check (CRC)
(D) All of the above

(E) Not attempted

An aeroplane flies along the four
sides of a square at the speeds of
200, 400, 600 and 800 km/hr.

Find the average speed of the plane
around the field.

(A) 384 km/hr
(C) 564 km/hr
(E) Not attempted

(B) 444 km/hr
(D) 765 km/hr
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75. e i & FA-H FET 3FfwE R ?

() 5967013 ©  (B) 11117
541326 (D) FHAIRT
(E) I
6. T 2023, BRI < H 100%
T A STt dgert Usd ST
(A) TIEH AR
(B Torgaa T AT -
(C) I e
\/ﬁ)mﬁ@?ﬁ’ﬂ‘“‘
(E) 3TTTHa

77, T TE % T U1 % B TR
() Trere 3 Anhfdrn <6 ufefd
\_4B) witg <t Iufeufd

78. FH-T1 TR e HIe TR H1 Ial T
¥ foru e AR T =1 ST et 2 ?
(A) 2fim =i
UiB) i 9%
(C) TrfFema REER a9 (Hiem)
(D) Iyl At
(E) Trnfaa
79. TH TATE W& 200, 400, 600 3R
soogm/hrﬁnﬁ?ﬁé@aﬁﬁarﬁ
YT 6 HI-91Y IS & | &7 & 91
g% 3R 74T e 3ivea iy 3 S
" _AA) 384 km/hr  (B) 444 km/hr
(C) 564 km/hr

(B) 3=

(D) 765 km/hr
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81.

82.

district of Haryang
(A) Peacock throne
(B) Raaj Mahg

(C) Rang Mahg
(D) Red fort

(E) Not attempteqg

Classification of Rural Markets is
(A) Industrial Market

(B) Services Market

(C) Consumer Market

(D) All the above

(E) Not attempted

In each of the following find the
figure from the answer set which
will continue the series given in the

problem set.

b

1 2 - 3 4 5
(A) L‘
(B) L‘

€| —

(D) /

(E) Not attempted
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80. AT I I§ Nitg TN Al g
gheamn % 3farern fet & s
(a) Tl T~
(B) TS Wect
1 Hged
(D) T HIE x
(E) 3R

81. IO SR T afieRtor 2
(A) SEfEs TR
(B) |1 AR
(E) 39

82. frafafad # 4 vds sw wy= ¥ &
gleu S wwe wg=E § & SEen w
T T R

212

—

einiis

(A) T_.x

(B) L’

C) ] —* x
(D) / i
(E) TR

-19. B
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83. Where is the Niagara river found ?

84.

85.

86.

(A) India
(B) Australia
(C) North-America

HO)
i
[EsE

¥
&

(D) Japan
(E) Not attempted

Rewari Railway Heritage Museum
of Haryana had world’s oldest still
functional steam locomotive known as

(A) Himalayan Queen

(B) Fairy Queen

(C) Iron Lady

(D) Shimla Kalka Express
(E) Not attempted

Who was the Chairman of Drafting
Committee of Constituent Assembly ?

(A) Sardar Vallabhbai Patel
(B) K. M. Munshi

(C) Dr. B. R. Ambedkar

(D) Dr. Rajendra Prasad
(E) Not attempted

Complete the following Analogy.
Vitamin A : Retinol :: Vitamin C:
(A) Calciterol

(B) Niacin

(C) Tocopherol

(D) Ascorbic acid

(E) Not attempted
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m%mﬁmwﬁﬁw
B T g 3t ¥ e I A
g wEd

(a) Temrerm =E

AB) Hal =

(C) I TS

(D) Rt FHTeTehT TEE

(E) IS

84.

gfgam g1 <t wrEg affa 1 ey
S o7 ?

(A) TER TeawETs Ued

E‘;Ee[?i (B) %. TH. {3t

(D) E1. TNig TG

(E) Iofd

85. -

86. FrafoRea wrewm ot Hhifsw)
foarfim A : Wit o ferfm e
(A) Hewreia
(B) Tt
(C) TrhrBer
(D) Tehifsieh It
(E) TRt

IR
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87. Nabh Chhor is the leading evening 87. =¥ =R, BREmn % ISR
newspaper i : 2
districsof Horyana, ST 30 S S5sf S Sy |
(A) Palwal (A) Fetqet
(B) Hisar \/g) feam
(C) Sonipat (C) | ~
(D) Rohtak (D) Tgdeh ’
(E) Not attempted (E) STSETa

88. A sum of Rs. 800 amounts to Rs. 920 | 88. . 800 I T URT 3 ¥ H AI4R0 =1
in 3 years at simple interest. If the W&, 920 B A 2 | I I & 3%
interest rate is increased by 3%, it e ST g’ & zoh Ul Re Bt 7 @
would amount to how much ? _ L (1
(A) 995 (B) 997 iy () 995 (B) 997 e )
(C) 998 (D) 992 B () 908 B 992 o
(E) Not attempted (E) 3TSféa

89. Complete the following Analogy. 89. T=fefea TaEwar T‘f i
Ayurveda : Medicine :: Dhanurveda : 31T§§3 ;L[0T ﬂﬂﬁﬁ & 1O G,
— 18 ¥
e oy i
(C) Archery g LAC) I8 .
(D) None of the above i (D) 3w # & Hr TEH
(E) Not attempted . (E) Twaiee

90. ____ isthe most important and 90. __ waiftres Weeyyl 3t gg Avft R,
widespread ca;egfoar.g't :; z‘:ﬁr::ﬁ:ﬁ rglfem Fh AT 40% Y-8 3TaT B wfeww
Im:rxf:d:upofmesesoﬂs. T I A AR
(A) Red soil (A) <t Tt
(B) Laterite soil (B) e qdl
(C) Alluvial soil (AC) il qd
(D) Black soil (D) refl T
(E) Not attempted () srrnfe
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3 English Language 2 e
\ 91. How many tense are there 11 English o: 5311 ?
| Grammar ? Tl'\'ﬂgmﬁ
| A) 2 B 3 AT
l 4 (B) qrcl
; (C) 8 (D) X
- (E) Not attempted (©) STl
B (D)
e 92. Complete the following Analogy- )
{8 Before : After :: Enjoy : ————
Ll (A) Sad | 97. 4,9,% % ¥ 3T 1 IR TIH R
(B) Happy i) T
| Lie) Suffer (B) -;Bi:a
o (g) llzlaltn ttempted myg (©)
|| (E) Not attemp 5"' ‘iﬁli D)
’ )’ 93. How many types of nouns are there (E)
. : i 2
T e e 4 og. cwermATY fFEH T T ?
Bl 2, (A6 (B) S
| e = (0) 2 \AD) 5 (8)
w7 (E) Not attempted ) 3R
| (C) 3T
24. gompl;;t:l tltle f;g;m;i Analogy. (D) eI EZCYEd
en: et :: garoo :
(A) Calf (E) 3Tsféd
(B) Pup 99, T d & a= F Read W R 7
u
(E) Not attempted L/(('g 2 (D) 1
: 95. The past participle form of th
| ‘Draxl;’ ] of theverb | 100, wewfy ware o) 1 fb ‘H@’;‘;‘ 7
(A) Drew iy ¥ geyes 3 &9 3 fg T
(B) Draw E LA44) =¥ 1903
i Gt (B) ¥ 1906
(C) Drawing E3
Drawn (C) =¥ 1909
(E) Not attempted (D) ¥ 1900
(E) 3rsrnfid
—E\‘
B -22.
'f
|
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